Baroody

Honors Geometry

Homework for Section 3.2
3.
Given: AB=CB B
.ABD = .CBD
Prove: AABD = ACBD
D
A
Statements Reasons
Given: 1= .2 G
EF - AF
F
Prove: AEFJ = AHFG
H
Statements Reasons
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Honors Geometry Homework for Section 3.2

5.
_ R
Given: RO 1 MP
MO = OP
Prove: AMRO = APRO
M (0] P
Statements Reasons
10.
A The perimeter of ABCD is 85. Find the value of x.
4x 6x - 11
D B

3x+4 5x -7
C
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15.
Given: GH=KJ o M
HM = JO
GO = KM
Prove: AGOJ = AKMH
G H J K
Statements Reasons
16.
Given: R = /N
RT - NP
TS = OP
Prove: ANOT = ARSP
N P
Statements Reasons
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17.

Given: 1= .6

Prove: AABC = ADEC

Statements Reasons
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